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ﬁc(‘ q §> Q A light elastic string, of elastic constant M and natural length / has one end
Ser

rattached to a fixed point. Two particles of masses 3m and 2m are attached to the
@) A particle of mass m moves with simple harmonic motion under the action of 2 | ,iher end and the system hangs in equilibrium. If the 2m mass falls off

Tm

— and the amplitude of the
i fe: LR RECREEET S e ¥ ? () prove that the 3m mass will move with simple harmonic motion of period
motion is 4 m calculate

(i) the period of the oscillation. , g,‘ ’ é
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(i) the speed of the particle at a time Nea seconds after passing through the (i) Fi! thé-mmmplitisdes oF fhe:sioiSon.

centre of oscillation.
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